SmallRig

"Rhinoceros” Cage Kit
for Sony Alpha 7R V / Alpha 7 IV / Alpha 7S 1l

Operating Instruction




SmallRig "Rhinoceros" Cage Kit for Sony Alpha 7RV / Alpha 7 IV / Alpha
7S 111 4308 is designed to attach accessories and protect the camera and
HDMI port. The cage secures the camera firmly via a locating pin, a
1/4"-20 screw, and an M2.5 screw together. It features a clean streamlined
design that gives full access to the top buttons. The HDMI cable clamp is
tightened via a flat-head screw, protecting the interfaces to ensure stable
signal transmission. There are multiple mounting points for attaching
other accessories, including 1/4"-20 threaded holes and ARRI 3/8"-16
locating holes for Top Handle 2165C, Side Handle 2093C, one top ARRI
3/8"-16 locating hole for Monitor Mount 2903B, cold shoe mounts for the
microphone, LED video light, and a bottom QD socket for shoulder strap.
The Arca-Swiss quick-release plate on the bottom supports DJI RS 2 /
RSC 2/ RS 3/ RS 3 Pro stabilizers, DJI RS 2 / RSC 2 stabilizer
quick-release plate (height increase pad), and Arca-Type Quick Release
Plate 3154. This item also features strap slots on both sides and the
bottom, compatible with Hand Strap 3848, Shoulder Strap PSC2428, etc.
Besides, a magnetic wrench is included for easy disassembly and
assembly.

Safety Guidelines

1. Environment

Do not use the product underwater, in extreme temperatures (e.g., freezing or
direct heat), corrosive environments, or excessive dust. Dry metal parts
immediately after liquid contact to prevent corrosion.

2. Load Capacity

Do not exceed the maximum weight capacity indicated on the product.

Overloading risks structural failure, deformation, or accidental drops.

3. Cleaning & Maintenance

Clean surfaces with a dry, soft cloth. Avoid chemicals like alcohol or solvents.
Ensure dry and ventilated conditions for long-term storage.

4. Structural Integrity

Do not modify the product (e.g., drilling, cutting)—this compromises structural
integrity and increases drop risks.

5. Malfunctions

Stop use immediately if you notice deformation, unusual noises, or loose
components, and contact support.



In the Box

Guarantee Card  x 1 HDMI Cable Clamp = 1 Cage x1

Product Details

Strap Slot

Cold Shoe
1/4"-20
Threaded Hole QD Socket Swiss Plate for Arca

3/8"-16 Locating Hole for ARRI

1/4”-20 Threaded Hole

Strap Slot

1/4"-20

1/4°-20 Threaded Hole

Threaded Hole

3/8"-16 Locating NATO Rail
Hole for ARRI




Installation Guide

Lock the Camera Firmly by Three Steps

STEP ®

Lock the camera via
aM2.5 screw at the
left of the cage

Lock the camera via a
locating pin at the
bottom of the cage

Lock the camera via a 1/4'-20
screw at the bottom of the cage

A\ Please Note

Please remove the left split D-ring before installing the side lock adapter

Multi-Point Anti-Twist
Locking System




Specifications

Nowm "
7

1080mm

Specifications:

Product Dimensions: 161.4 x 71.2 x 107.0mm

Package Dimensions: 184.0 x 139.0 x 86.0mm

Product Weight: 180.0 + 5.0g

Package Weight: 320.0 £ 5.0g

Material(s): Aluminum Alloy, Carbon Fiber, Stainless Steel, Silicone

Manufacturer Email: support@smallrig.com

Manufacturer: Shenzhen Leqi Innovation Co., Ltd

Add: Rooms 101, 701, 901, Building 4, Gonglianfuji Innovation Park, No. 58, Ping'an Road,
Dafu Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China

Consignor: Shenzhen LC Co., Ltd

Add: Room 201, Building 4, Gonglianfuji Innovation Park, No. 58, Ping'an Road,
Dafu Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China

RoHS CE® &H A

Made in China

Séparez les éléments avant de trier



